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QUESTION 1

A customer has received an email notification about a temperature alert on one of the storage servers on their Exadata
system.

What action can the customer take to further investigate the alert?
A. Log in to the Oracle database and query v$temperature.

B. SSH to the storage server and use the CellCLI sensor_check command to get information about the storage
server\\'s health.

C. Log in to the ILOM service processor and view the current status of the sensors and indicators on the system.
D. Enter the data center and immediately power off the storage server.
E. Run exachk to find the system component that might be having a problem.

Correct Answer: B

QUESTION 2

Identify four significant changes when a backup of Exadata compute nodes must be performed. (Choose four.)
A. addition of an Exadata storage expansion rack

B. storage server rebalancing

C. installation or reconfiguration of significant non-Oracle software

D. application of Oracle patches

E. before shutdown to preserve storage indexes

F. application of operating system patches

G. reconfiguration of significant operating system parameters

Correct Answer. ADFG

QUESTION 3
Which two statements are true about migrating your database to Exadata? (Choose two.)

A. Using Data Guard Physical Standby to migrate from an 11.1 database to Exadata is beneficial because it allows you
to adopt HCC during migration.
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B. Because Exadata uses InfiniBand, in order to migrate your database to Exadata, you must have InfiniBand on the
system that you are migrating from.

C. ASM and the database best practice configuration that is supplied during Exadata deployment should be retained
during and after migration.

D. The logical migration methods allow more flexibility in changing the database structure for best performance than the
physical methods.

E. All indexes should be dropped when migrating to Exadata.
Correct Answer: CD

Reference: http://www.slideshare.net/monowar94ru/migrating-databases-to-exadata-database-machine

QUESTION 4

What are three ways to be informed of an Exadata Storage Sever disk failure? (Choose three.)
A. review of the database server iostat output

B. alert notifications through email when SMTP notification is configured

C. review of the ILOM log

D. review of the output of LIST ALERTHISTORY

E. review of the output of SELECT STATUS FROM V$DATAFILE

F. alert notifications in the Enterprise Manager Exadata Plug-In

Correct Answer:. BDF

QUESTION 5

Identify three default ways to connect to Oracle Exadata Cloud Service that is running on Oracle Public Cloud.
A. using the UNIX-based telnet command

B. using SQL *Net from clients that are running on a compute cloud service

C. using SSH for administrative purposes

D. using Oracle Net from on-premise applications

E. using the Remote Desktop client and the RDP protocol

Correct Answer: BCD

Reference: https://www.oracle.com/webfolder/technetwork/tutorials/Architecture_Diagrams/ecs_arch/ ecs_arch.html
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